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Questions from 1 to 10, each carries one score.

1. Disguised unemployment mainly exists in ---

a) Industrial Sector b) Agricultural Sector
¢) Information Technology d) All of the above
2. Index number for the base period is always taken as
a)0 b) 1
c) 100 d) 10
3. Karve Committee give suggestions to promote the working of the following. Find it?
a) Heavy Industries b) Rural Infrastructure Development
¢) Public Sector Industries d) Small scale Industries
4. Pick the odd one out
a) Consumer Price Index b) Whole Sale Price Index
c) Producer Price Index d) Human Development Index
5. WT O was set up in -------
a) 1948 b) 1995
c) 1991 c) 1955
6. Jail Cost of Living Index was prepared by
a) Amartya Sen b) Dadabhai Naoroji
c) J.M.Keynes d) P.C.Mahalanobis

7. The sum of deviations of observation fromA,M is  -------------

8. Data Collected from a News paper is an example of -------------

9. Median can be located graphically by drawing -------------------

10. A survey which includes every elements of population is known as ------------
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Questions from 11 to 15, each carries 2 scores.

11. What is organic farming ?

12. Write the characteristics of the good Questionnaire ?
13. List out the causes of Poverty.

14. What are the use of Index Numbers ?.

15. What is Human Capital Formation ?.
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Questions from 16 to 20, each carries 3 scores

16. Differentiate between Biotic and Abiotic elements of the Environment using example
17. List out the different types of classification of Data.

18. Write any three sources of Human Capital.

19. Distinguish between formal sector workers and informal sectorworkers with suitable
example.

20. List out the uses of Statistics in Economics.
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Questions from 21 to 25, each carries 4 scores.

21. Draw Scatter diagram to represent Perfect positive Correlation, Perfect Negative
Correlation Positive correlation and Negative Correlation ?.

22. What is Primary data ?. What are the methods of collecting primary data ?.
23. What are the objectives of Indian Planning ?.

24. Construct a Pie diagram from the following data.

Items Expenditure
Food 8000

Rent 5000
Education 4000

Cloth 2000
Miscellaneous 1000

25. Mention any four indicators of Human Development.
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Questions from 26 to 30, each carries 5 scores.

26. Modern path of development is found to be un sustainable. What measures can be taken
to achieve sustainable development ? Explain.

27. Prepare a frequency distribution table from the following data using inclusive method
[ Class interval 10 ]

16, 13, 5, 80, 86, 7, 51, 48, 70, 19, 61, 17, 16, 36, 34,
42, 35,72, 55,62, 31, 30, 4, 17, 24, 34, 72, 56, 27, 43.

28. Draw a less than Ogive and more than Ogive from the given below data.

Class Frequency
0 -10 5
10 - 20 10
20 - 30 15
30 - 40 20
40 - 50 10
50 - 60 10

29. a) Write the importance of Index Number in Economics.
b) Construct Index Number from the given data by using simple aggregative method.

rice

Commodity 2010 2015
A 80 95
B 50 60
C 90 100
D 30 45

30. In the words of Mahathma Gandhi ““ India Lives in Villages”. Do you agree with this
opinion ? Substantiate.
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Questions from 31 to 33, each carries 8 scores.

31. Poverty is a multidimensional challenge for India that needs to addressed on a war-
footing. In the light of above statement explain poverty alleviation programs adopted in
India.

32.. Explain the reforms introduced under the liberalisation policy in 1991.

33. The following data shows marks obtained by 60 students in the model examination.
Calculate Arithmetic Mean, Meadian and Mode.

Marks No. of Students
0-10 7
10 - 20 10
20 - 30 18
30 - 40 13
40 - 50 8

50 - 60 4
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